@ /NI (31€10,100,1000)

w4 HH1: i/
5.408 x 10 = 6.345 x 100 =
8.137 x 1000 = 4.628 x 1000 =
1.337 x 10 = 1.794 x 100 =
8.339 x 10 = 5.311 x 100 =
1.601 x 1000 = 9.496 x 1000 =
9.455 x 1000 = 9.248 x 10 =
1.354 x 100 = 1.741 x 100 =
3.292 x 1000 = 10.968 x 10 =
9.58 x 10 = 9.083 x 10 =
3.247 x 1000 = 10.454 x 1000 =
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@ /NETRET(3€10,100,1000)

4 H391: i O
5.408 x 10 = 54.08 6.345 x 100 = 634.5
8.137 x 1000 = 8137 4.628 x 1000 = 4628
1.337 x 10 = 13.37 1.794 x 100 = 179.4
8.339 x 10 = 83.39 5.311 x 100 = 531.1
1.601 x 1000 = 1601 9.496 x 1000 = 9496
9.455 x 1000 = 9455 9.248 x 10 = 92.48
1.354 x 100 = 1354 1.741 x 100 = 174.1
3.292 x 1000 = 3292 10.968 x 10 = 109.68
9.58 x 10 = 95.8 9.083 x 10 = 90.83
3.247 x 1000 = 3247 10.454 x 1000 = 10454
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